D 2 FEARMELSFEREHN

FhilE@ BEBDEP BE K £ EERER | FRENOEE | EEN =1 &OSTDEE
misEDE | 33 B BF 14 — 1,030 | 1,030
HZ | EIEEDE | 46 2T B WS 1,020 3,100 | 4,120 11,350
TUESDEP 411 B P PUES - 6,200 | 6,200
SKEZDE 226 J=iv T N — 4,100 | 4,100
TR | SBOH 338 J\=H =7 B - 5,100 | 5,100 14,300
SO 366 el KT B — 5,100 | 5,100
iz | RO 118 fEss Bl | P - 3,100 | 3,100 8,200
SERDEB 373 £H 5 B — 5,100 | 5,100
misFEOR | 57 it At WER 1,020 3,100 | 4,120
misTEDL | 59 A —% WER 1,020 3,100 | 4,120
FAIE | WIERDL 116 = BET | W - 3,100 | 3,100 19,540
SXEFDE 218 =H AR | R - 4,100 | 4,100
S EZ DL 233 =4t BT =y - 4,100 | 4,100
misTEOL | 32 W BT 14% — 1,030 | 1,030
ISTEDED 44 AR FSiE 14K — 1,030 1,030
WISEDE | 55 175 =t 14 — 1,030 | 1,030
28 | B0 125 2 EEF | W - 3,100 | 3,100 19,590
HERDED 140 LM it A — 3,100 | 3,100
S EZ LB 232 PR BRT | X - 4,100 | 4,100
TUERDEP 438 o = POES - 6,200 | 6,200
S EZ DL 224 e AHE =y - 4,100 | 4,100
. KEFDE 236 = ETES N — 4,100 | 4,100
i 18,400
BB 363 ] 23] S - 5,100 | 5,100
SO 371 LI 1EF S - 5,100 | 5,100
misFEOR | 39 =8 5418 14 — 1,030 | 1,030
WISEDL | 40 KikE BT 14 — 1,030 | 1,030
ISTEDED 43 )| ERT 1% — 1,030 1,030
WISEDL | 56 5 £/ 14 — 1,030 | 1,030
HERDED 129 is v PER - 3,100 | 3,100
FEDEB 132 KM BT Y - 3,100 3,100
YR DEB 133 PN BET YR - 3,100 3,100
sy | PIBOED 135 A 20 | PR - 3,100 | 3,100 54,520
YR DEB 137 T=E fE—EB YR - 3,100 3,100
KEFDE 235 BIA T =y - 4,100 | 4,100
HERDED 240 X LEAY HE — 4,100 4,100
SXEFDE 250 o)l T | R — 4,100 | 4,100
BB 367 e BxT | BE - 5,100 | 5,100
SO 375 2 HEE | 2B - 5,100 | 5,100
TUESDEP 422 AR IS PUES - 6,200 | 6,200
TUERDEP 465 AT pg POy — 6,200 | 6,200




FRIE EEODED B8 K 2 BEERR | FENOERE | BB =5 OS5 TOEE

EAEEDES 1 A & 1#% — 1,030 1,030
HEASTEDEB 8 A == 14k — 1,030 1,030
EAEEDES 45 L=l 7 e 1,020 3,100 4,120
HEASTEDEB 47 i) it 1% — 1,030 1,030
EAEEDES 67 A En e 1,020 3,100 4,120
HIEZDED 128 ficas] BN e — 3,100 3,100

37’ HIERDED 134 HiK FDF WEs — 3,100 3,100 44,130
HERDED 239 == Bx HEx — 4,100 4,100
HExDEB 245 /N ] HE — 4,100 4,100
HERDED 263 2RI % HEx — 4,100 4,100
HExDEB 265 HE B4 HE — 4,100 4,100
SEDED 332 BR HBEF Bk - 5,100 5,100
SEDED 337 fEH fEIRT BE — 5,100 5,100
HIEZDED 113 i =2h e — 3,100 3,100

jre %EEQ(DE’B 215 ¥ 5 a HE — 4,100 4,100 17,500
HERDED 234 = =201 HE — 4,100 4,100
TR ODED 409 S =L e — 6,200 6,200
HEASTEDEB 35 FEXN BEF 14k — 1,030 1,030
EAEEDES 37 LA Z=EB 1#% — 1,030 1,030
HEASTEDEB 38 pi3U] = B 1,020 3,100 4,120
EAEEDES 41 75 RAR 14k — 1,030 1,030
HEASTEDEB 54 BR B B 1,020 3,100 4,120
EAEEDES 61 HEH FA I 1,020 3,100 4,120
HEASTEDEB 63 %H & 14k — 1,030 1,030
HIERDEB 114 HIHE = WEs — 3,100 3,100
HIEZDED 127 [y BF e - 3,100 3,100
HEDEB 131 SH e WEs — 3,100 3,100

W T)JEQG)EB 136 Al ZF 1_‘)]59 — 3,100 3,100 83,280
HExDEB 220 ZTazwr— | DU | KB — 4,100 4,100
HERDED 244 S| i AiE e — 4,100 4,100
HExDEB 248 JBHE 7 HE — 4,100 4,100
HERDED 259 FH FKEB HE — 4,100 4,100
HExDEB 268 E3l9 B HE — 4,100 4,100
SEDED 312 [ia)] i Bk — 5,100 5,100
SEDED 328 [iz[1 E BE — 5,100 5,100
SEDED 378 BH HE Bk — 5,100 5,100
TR ODED 405 ME (ZEES s — 6,200 6,200
MU DB 423 2] Kt MuEs — 6,200 6,200
TUEODED 453 e SEER e — 6,200 6,200

AE | BISEDE 25 KIx G ES 14k — 1,030 1,030 1,030




FhilE@ BEBDE | SBES K £ EERER | FENOEE | EEN =11 &OSTDEE
mISTEOH | 17 TS fER 15R — 1,030 | 1,030
HIETEDED 21 SH =R VB 1,020 3,100 4,120
mISEDE | 30 1P Bt 15R — 1,030 | 1,030
HERDE 110 BA 1A e — 3,100 | 3,100
RO 120 aH BT PR - 3,100 | 3,100
HERDE 121 I B e — 3,100 | 3,100

e T)JEEGDEB 126 T fEH PR - 3,100 | 3,100 48,280
XEZDED 231 K =27 | X\ — 4,100 | 4,100
KREZDHD 242 b —& =ER - 4,100 | 4,100
2EZDED 243 G e N — 4,100 | 4,100
KRESDHD 247 fEEes = =ER - 4,100 | 4,100
XEZDED 252 P 8 N — 4,100 | 4,100
KRESDHD 266 E[A:s i =ER - 4,100 | 4,100
BERDL 372 =BS) ] B — 5,100 | 5,100

g | IO 108 H 27 WS — 3,100 | 3,100 6,200
HERDE 112 B0 BIA e — 3,100 | 3,100
mISTEOH | 34 &7 m WS 1,020 3,100 | 4,120
HIETEDED 58 parEn BE VB 1,020 3,100 4,120
mISTEDH | 60 Ak AETF | P 1,020 3,100 | 4,120
HIETEDED 62 (%13 =17 VB 1,020 3,100 4,120
mISEDE | 65 100 BT 14% - 1,030 | 1,030

e | Ko 246 = F=PH | RER — 4,100 | 4,100 48,310
KRESDHD 256 A0 Al =ER - 4,100 | 4,100
BERDL 336 B »I=E | BH — 5,100 | 5,100
BB 362 P HEBTF | 2B - 5,100 | 5,100
TUERDER 442 EN w7 TOEY — 6,200 | 6,200
TR DEP 463 FHH LTy TuES - 6,200 | 6,200
HERDE 130 K& B A — 3,100 | 3,100

75 | ez 251 %0 BT En — 4,100 | 4,100 13,400
TUERDER 462 M HeE TUES — 6,200 | 6,200
mISTEOH | 36 i1l HET 15R — 1,030 | 1,030
mIEEOH | 42 NES = 1R — 1,030 | 1,030
mISTEDHE | 49 )13 2 15R — 1,030 | 1,030
HIETEDED 50 RA e 2%k - 1,030 1,030
mIgTEDE | 51 B ET e 1,020 3,100 | 4,120
mISTEDE | 52 Ba 57 1R — 1,030 | 1,030
mISTEO | 53 H 558 1% — 1,030 | 1,030
mISEDH | 66 A 14 1R — 1,030 | 1,030

g | WD 119 1l HF W - 3,100 | 3,100 48,330
FERDEB 123 fBH {ERF Y - 3,100 3,100
B 124 1heTEE T R - 3,100 | 3,100
2EZDED 213 M F =ER — 4,100 | 4,100
KRESDHD 241 AH ek =ER - 4,100 | 4,100
XEZDED 264 i H<H | RE& — 4,100 | 4,100
KRESDHD 267 e 1% =ER - 4,100 | 4,100
BEDL 329 mE SETT BE — 5,100 | 5,100
TR DEP 458 HE = TuES - 6,200 | 6,200

X FENOER(IBEERFAENVESIBORCHIRERN S BIEEEENOERZNMIRZ XY,
EENDELE = YIEREER2,050-F\ISTEEER 1,030




